
Appendix 1. Corpus belonging to Experiment I. 

1. [t  beʃ/t béʃ] in contrastive focus contexts: 

a. Neutral 

 A: ʧi ʃode?      A: ʧi ʃode? 

   ‘What happened?’     ‘What happened?’ 

 B: un [t béʃe].      B: un [t  beʃe]. 

  ‘That is Tabesh.’     ‘That is his swing.’ 

 

b. Focal 

 A: un ahmadie?      A: un taxteʃe? 

  ‘Is that Ahmadi?’     ‘Is that his bed?’ 

 B: un [t béʃe].      B: un [t  beʃe]. 

  ‘That is Tabesh.’     ‘That is his swing.’ 

 

c. Post-focal 

 A: in t béʃe?      A: in t  beʃe? 

  ‘Is this Tabesh?’     ‘Is this his swing?’ 

 B: un [t béʃe].      B: un [t  beʃe]. 

   ‘That is Tabesh.’     ‘That is his swing.’ 

 

2. [dídan/didán] in contrastive focus contexts: 

a. Neutral  

 A: ʧi ʃode?      A: ʧi ʃode? 

  ‘What happened?’     ‘What happened?’ 

 B: un  [didáneʃ].     B: un  [dídaneʃ]. 

  ‘They have seen it.’     ‘They saw it.’ 

 

b. Focal 

 A: un  bordáneʃ?     A: un  bόrdaneʃ? 

  ‘Have they taken it?’    ‘Did they take it?’ 

 B: un  [didáneʃ].     B: un  [dídaneʃ]. 

   ‘They have seen it.’     ‘They saw it.’ 

 

c. Post-focal 

 A: ʃoma didíneʃ?     A: ʃom  dídineʃ? 

      ‘Have you seen it?’         ‘Did you see it?’ 

 B: un  [didáneʃ].     B: un  [dídaneʃ]. 

       ‘They have seen it.’            ‘They saw it.’ 

 

3. [t  beʃ/t béʃ] in factive verb contexts: 

a. Non-presupposed 



 A: darb re moallem ʤadide čizi ʃenidi? 

  ‘Have you heard about the new teacher?’ 

 B: midunam [t béʃe]. 

  ‘I know he is called Tabesh.’ 

   

 A: fekr nakonam in  hame bar  un b ʃe. 

  ‘I don’t think all these belong to him.’ 

 B: midunam [t  beʃe]. 

  ‘I know this is his swing.’ 

 

b. Presupposed 

 A: mige esmeʃ t beʃe am  fekr nakonam. 

  ‘He says his name is Tabesh but I don’t think so.’ 

 B: midunam [t béʃe]. 

  ‘I know he is called Tabesh.’ 

  

 A: mige in t beʃe am  fekr nakonam. 

  ‘He says this is his swing but I don’t think so.’ 

 B: midunam [t  beʃe]. 

  ‘I know this is his swing.’ 

 

4. [dídan/didán] in factive verb contexts: 

a. Non-presupposed 

 A: fekr nemikonam bareʃ d ʃte b ʃan. 

  ‘I don’t think they have taken it.’ 

 B: midunam [didáneʃ]. 

  ‘I know they have seen it.’ 

   

 A: fekr mikoni bareʃ d ʃtan? 

  ‘Do you think they took it?’ 

 B: midunam [dídaneʃ]. 

  ‘I know they saw it.’ 

 

b. Presupposed 

 A: mige didáneʃ am  fekr nakonam. 

  ‘He says they have seen it but I don’t think so.’ 

 B: midunam [didáneʃ]. 

   ‘I know they have seen it.’ 

  

 A: mige dídaneʃ am  fekr nakonam. 

  ‘He says they saw it but I don’t think so.’ 

 B: midunam [dídaneʃ]. 

  ‘I know they saw it.’ 


